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an extortion ring

Internet auction fraud

reckless motorcyclists

(to) conduct an impartial investigation
large-scale nuclear incidents

= -~ Passage Translation : (30 4*)

( T ) Please translate the following passage into correct Chinese :

In 1999, a teenage girl was taken from a Haitian orphanage and smuggled — using fake
documentation — into Miami, where she was forced to work as a domestic servant for up to 15 hours a day,
seven days a week. She was never paid, not allowed to go to school, occasionally beaten, and subjected to
other inhumane treatment. After suffering for nearly six years, she managed to escape in 2005. This
March, justice was finally served when three of her captors were convicted in the case. This is just one of
hundreds of heart-breaking human trafficking cases the FBI investigates each year.
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( I ) Please translate the following passage into correct English :
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= ~ Reading Comprehension : (20 4#*)
David:

I’ll be away for a week but my grandfather will let you in to use the computer. There are a few
things you need to know. Brian Lee will call on Tuesday night and ask for information on our class
science project. Please see the appropriately labeled files in the folder of that name in My Documents.
He will ask you some specific questions and you may answer, but giving him any numerical information
from the “SCIPorjData” file is something we might regret later, because we don’t want other teams to
copy our data.

Also, I’ve had some trouble with the computer recently. | wanted to get it fixed last week but had
no time. There are unexpected crashes about once an hour and mysteriously deleted files around once a
week, so back everything up on an ongoing basis. The best way is just to burn it onto a CD after you
finish working each day, but save your work every five minutes or so to avoid losing it in a crash.

One last thing: Go ahead and download music if you want but don’t add any new names to the
approved lists for my peer-to-peer music sharing software. |1 don’t want strangers poking through my
computer.
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Have fun!
Jerry
1. What is the relationship between David and Jerry?
Choose the most likely answer from the choices below.

(A) They are brothers. (B)They are co-workers.

(C) They are classmates. (D) They are co-workers of Brian Lee
2. How often should David save files he’s working on?

(A) Each day (B) Every hour

(C) Every week (D) Every five minutes

3. Which of the following isn’t correct?
(A) Brian Lee mustn’t be put on the approved list.
(B) Brian Lee can have some information about the science project.
(C) David hasn’t had his computer fixed recently.
(D) The “SCIPorjData” file has a lot of numbers in it.

Every year in Nepal, young men answer a call to recruitment for one of the most feared and
respected groups of soldiers in the world — the Gurkhas. On a typical year, 28,000 will come, yet only
about 230 will be chosen to join the ranks of some 3,500 elite soldiers. Surprisingly, these soldiers fight
not for their own country, but for the United Kingdom.

During the time of British domination of the Indian subcontinent, British soldiers encountered
many stubborn enemies, though few as tough and warlike as the Gurkhas. After the Anglo-Nepali war
(1812-1815) the British, so impressed by their adversaries, recruited several regiments of Gurkha
soldiers to join the colonial army. They have not regretted this decision, as the Gurkhas’ incredible
toughness, ferocity and loyalty have won them great respect and many formal honors in numerous
conflicts across the world.

Thus, the British Army maintains the Brigade of Gurkhas to this day, although its soldiers are all
Nepalese citizens. In recent years, however, there have been signs of strain in the relationship. This is
due to the growing controversy surrounding the disparity in pay between the Gurkhas and regular UK
servicemen, with the later making far more money than the former.

4. Why is there growing strain in the relationship between the Gurkhas and the British Army?
(A) The Gurkhas make more money than the regular UK servicemen.
(B) The Gurkhas make less money than the regular UK servicemen.
(C) The Gurkhas are Nepalese but serve in the British Army.
(D) Not enough Gurkhas are chosen from among the potential recruits.
5. The word “surrounding” is underlined to mean ...
(A) On all sides (B) Close to
(C) Between (D) About
6. Which of the following is true?
(A) Only 230 out 3,500 recruits are selected annually.
(B) Only 3,500 out of 28,000 recruits are rejected annually.
(C) Only 230 out 28,000 recruits are selected annually.
(D) Of 28,000, approximately 230 are rejected annually.
7. Which of the following would be the best title for this article?
(A) The Soldiers of Nepal (B) A History of the Gurkhas
(C) The Gurkhas, Fierce and Loyal Soldiers (D) Money Problems in the British Army

A seized goods auction sale will take place at 8 AM on Friday, December 10" at the Yellow Dog
Fairground in Carleton Place Township. The fairground is located on Highway 15 just north of the town
center. For sale by auction will be light trucks, SUVs, sedans, motorcycles and off-road vehicles. Most of
these approximately 800 vehicles have been judicially confiscated for use in federal crimes. Others have
been repossessed for failure to meet the payment schedule. All vehicles have been given basic overall
mechanical appraisal and repairs. They have also been cleaned and are free from all stains and illegal
materials.

All interested members of the public 18 years old and above are invited to the fairground at the
above time and place. All potential buyers must register in advance of the auction and may do so on-site
or through our website, www.CPpolice.gov. Registration must be completed before 8 AM. Bidders must
have credit cards with verifiable limits above the sale price, or pay by cash or cashier’s check. Security
at the site will be provided by the Carleton Place Sheriff’s department. To view our catalogue, please see
our website.
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8. Why are most of these vehicles being offered for sale?
Choose the best possible answer from the choices below.
(A) Because there is an auction

(B) Because they were confiscated from rich people
(C) Because they were used in crimes.
(D) Because they were too expensive for the police

9. What is something that ISN’T required in order to participate in the auction?
(A) Prove of age

(B) Knowledge of vehicles
(C) Advanced registration

(D) The necessary funds
(A) Police-owned land

10. The word “fairground” used repeatedly in the article is closest in meaning to which of the following definitions?
(B) A place where the prices are fair

(C) Aplace where dogs can live

(D) Open space used for exhibitions and similar events
= ~ Essay : (30 &)

Plan and write an essay on “What Makes What You Are Today ?
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~ Vocabulary : (20 #)

1. Is the pat-down of a person’s outer clothing after a stop to see if the suspect has a weapon
or something that feels like a weapon, which can be seized by the officer.
(A) Search (B) Arrest
(C) Frisk (D) Crack-down
2. Sharp objects and flammable items are on the aircraft.
(A) prohibited (B) promoted
(C) admitted (D) permitted
3. Is the crime of deceiving people in order to gain something such as money or
goods.
(A) Piracy (B) Murder
(C) Larceny (D) Fraud
4. Technical curricula are requisite in a wide range of fields.
(A) assimilated (B) promoted
(C) demanded (D) acquired

5. The expansion of public services has caused concern that the civil service branches are
becoming autonomous powers.
(A) independent (B) advanced
(C) superior (D) perilous

6. Crowd behavior is characterized as a spontaneous collective reaction to a publicly observed
event.
(A) chaotic (B) gratifying
(C) instinctive (D) uninterrupted

7. Because of his novel approaches to scientific problems, Edison was able to patent dozens of
inventions.

(A) original (B) varied
(C) coherent (D) unbiased
8. The fire salamander is so called because of an antiquated belief that it could withstand fire.
(A) well-developed (B) old-fashioned
(C) carefully fabricated (D) widely held
9. The engineer had a reason for changing the design of the building.
(A) peculiar (B) legitimate
(C) sharp (D) subsequent
10. The recent downturn in the housing industry the poor economic conditions.
(A) radiates (B) symbolizes
(C) spans (D) synthesizes
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~ Translation : (30 4*)

1. Policy assessment studies in the 1970s cast doubt on the effectiveness of these strategies for
preventing crime. For instance, the experimental study of preventive patrol in Kansas City
found that changing the level of patrol coverage had no effect on crime and citizen fear of
crime. Other evaluative research showed that rapid response to calls for service from citizens
didn’t increase the likelihood of preventing a crime or apprehending an offender. Finally,
evidence from dozens of studies suggests that traditional police strategies to reduce, control, or
prevent crime are ineffective.

1y

2. The safeguards introduced under the Police and Criminal Evidence Act, such as an impartial
custody officer, a right to free legal advice, strict time limits on the length of detention and the
tape-recording of interviews, have subsequently made it more difficult for the police to engage
in ‘fishing expeditions’, to detain suspects without firm grounds for doing so, to make informal
deals with them or to apply physical or psychological pressures to induce them to confess.

3. In a study of miscarriages of justice in the USA where the convicted person had subsequently
been completely exonerated as a result of DNA testing, it was found that the most common
contributory factor was mistaken identity, which occurred in 52 percent of the cases.
Caucasians misidentified African-Americans defendants in 35 percent of the cases, but
African-Americans also misidentified other African-Americans in 24 percent of the cases.

'

~ Reading Comprehension : (20 %)

Concern for the environment in the US extends back into the nineteenth century, when nature
lovers and sports enthusiasts first sought protection for areas of exceptional natural beauty or
significance. But it was not until the late 1960’s that environment concerns entered the
mainstream of American political debate. By then many Americans had come to the conclusion
that more development was not necessarily desirable, especially if it meant more polluted air,
dying lakes and rivers, and a landscape strewn with unsightly waste, and crowded with sprawling
construction projects. In May of 1970, several environmental groups staged the first Earth Day
celebration, designed to heighten public awareness of environmental problems. The success of
that initial effort led to it becoming a regular annual event.

During the 1950s and 1960s, industrial and vehicle pollution levels had become a serious
threat to public health, so the environmental movement of this period focused heavily on
restoring and ensuring the cleanliness of basic air and water supplies. Rapidly expanding
development pressures were also spurring efforts to preserve unique lands and threatened
wildlife habitats, and to protect the endangered species supported by them before they vanished
into extinction. It is generally accepted that the environmental protection movement was so
successful because of its grass roots support; groups of activists in hundreds of towns that took
the initiative in cleaning up their own communities. During the 1970s, this local activism
reinforced support for the passage of key laws at the national level, such as the Clean Water Act,
Clean Air Act, Endangered Species Act, and National Environmental Policy Act, which together
have constituted the foundation for environmental standards in the US ever since.

In addition to this national legislation, the year after the first Earth Day, by executive order,
President Nixon established the Environmental Protection Agency (EPS); an organization
dedicated to restoring and protecting the environment. The EPA spearheaded many
contemporary efforts to protect the environment, but it was not working alone. It was allied with a
wide variety of distinctly different and separate organizations ranging from a small number of
well-funded high-profile national and international organizations to many thousands of smaller
special interest groups and even individuals working at the local level. The EPA has now become
one of the government’s largest and most influential regulatory agencies. Through its own efforts
and in cooperation with other organizations, it has earned a large measure of credit for protecting
and restoring the quality of the environment in the United States.

Although one might assume that the cause of environmental protection would engender

A

B~ 2
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universal support, it does have its detractors. One criticism that has been leveled against the
movement is the claim that its predictions about the dire consequences of environmental damage
have often been in error. Environmentalists counter this assertion by pointing out that their
warnings have often brought about changes on the part of the public, the government and private
industry, and that these changes prevented the predictions from being realized. However, just as it
Is often very difficult to gauge the impact of human activity on something as complex as the
environment, it is equally difficult to determine which side is right in this debate. Because
environmental issues cover such a wide range of concerns, this is a question that must be
considered on a case by case basis. These voices of dissent have demonstrated to
environmentalists the need to apply quantitative methods in assessing the extent of the destruction
they have witnessed, or the degree to which their work has been manifested in actual
Improvement of the environment.

However vocal the critics of environmental protection efforts may be, given the very
considerable body of environmental legislation that exists, it is safe to assume that their views do
not represent the majority opinion. Private advocacy groups, the EPS, state legislatures and
Congress have worked together to enact numerous laws regarding air and water quality, land use
and waste management. That should be evidence enough of the broad extent of the popular
support that underlies the movement.

1. On which of the following does the passage mainly focus?
(A) Earth Day’s impact on the environmental movement.
(B) How to protect the environment of the planet.
(C) The environmental protection movement, and how it began.
(D) The success of the EPA in protecting natural resources.
2. The word spurring in the passage is closest in meaning to
(A) opposing (B) managing
(C) supporting (D) motivating
3. According to paragraph 2, why was the environmental protection movement so widely
successful?
(A) It protected plants and animals people cared about.
(B) It functioned well at the local level.
(C) It voted unsympathetic politicians out of office.
(D) It forced ratification of important national laws.
4. Which president established the EPA?

(A) Roosevelt (B) Clinton
(C) Nixon (D) Obama
5. The word spearheaded in the passage is closest in meaning to
(A) led (B) inspired
(C) conceived (D) modified

6. According to paragraph 4, what was a common criticism of the environmental movement?
(A) Itsuggested measures that would harm the economy.

(B) It predictions could not be prevented through practical action.
(C) That it lacked the support needed to make any real progress.
(D) The environmental damage it claimed was not seen.
7. According to the passage, what effect did the criticism of the environmental movement have?
(A) It caused the environmentalists to change their methods.
(B) It decreased federal assistance for environmental protection.
(C) Itdiminished popular support for the EPA.
(D) Itrevitalized support for the environmental protection movement.
8. Which of the sentences below best expresses the essential information in the underlined

w23
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sentence in the passage?

(A) Critics of the movement were successful in dissuading many environmentalists from
supporting some of the more drastic measures that had been suggested by questioning the
quantitative methods they employed

(B) Opponents of the environmental protection movement succeeded in getting the activists to
take another, more objective, approach to substantiating their claims

(C) People who disagreed with the environmentalists eventually were able to persuade many
that the methods employed by the environmental movement were invalid and their
conclusion incorrect.

assessing environmental damage because they felt the results might not substantiate their
claims.

(D) Members of environmental groups were reluctant to employ quantitative methods in
The word dire in the passage is closest in meaning to

(A) unrealized (B) possible
(C) grave

(D) imaginary
10. The word dissent in the passage is closest in meaning to
(A) opposition

(B) support
(C) indifference

(D) ambivalence
2z ~ Essay : (30 &)

Write an essay on the following topic: Information technology in policing and its impacts
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- ~ Vocabulary and Phrases into English or Chinese : (20 &)

1.

2
3.
4
5

il 6. red-handed offender

. BT 7. vehicle impoundment
TFAE T 8. security breach

. p 9. malefactor

ok AR R 10. avian influenza

= ~ Passage Translation : (30 &)

1.

For many years, the law enforcement community has attempted to detect impaired
drivers through numerous innovative efforts and measures. The problem of driving under
the influence is well known throughout society, yet, even with all of the strategies used to
remove these drivers from U.S. highways, it continues to cause needless and tragic loss
of life each year. When will such madness end? When will society no longer tolerate
drunk driving? Until that time, the law enforcement community must attempt to

contain the carnage inflicted upon law-abiding citizens by impaired drivers.
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= ~ Reading Comprehension : (20 &)
Q)

Internet dating has gone from daring to dull. As a result, many singles these days are
looking to their cell phones instead of their laptops in an effort to locate love.

Cell phone technology now allows users to post tiny photographs and mini-profiles to a
dating service mailbox, which can be visited by other cell phone users in search of a date.
When a profile looks promising, users use their phones to send a text message to their person
of interest.

Some phone dating services also are experimenting with ways to turn cell phone into
homing devices. In other words, the phones can alert users to potential dates who may be
just a short distance away — or, at the other end of the bar.

Europeans are heavily into phones dating, and China, which has 430 million cell phone
users, also has embraced “mobile romance.”

The wireless service providers love phone dating, too, because all that text messaging
pumps up their revenues. Analysts estimate that global mobile dating revenues were US
$31 million in 2005; by 2009, that figure is projected to reach US $215 million.

Some people say that phone dating is more about flirting than about serious romance.
“People who want to use their mobile devices are more interested in short-term relationships
than people who want to use their computers,” said an officer of Match.com, a service with a
quarter-million mobile users.

But, who really can say for sure. The next time the cell phones rings, it could be one
calling Cupid.

1. Which is the function the dating service can offer through cell phones?

(A) Alerting users to potential dates.
(B) Increasing user’s revenues.
(C) Holding a wedding.
(D) Giving a gift to possible dates.
2. How can someone get information on any possible date on their cell phones?
(A) By asking the operator.
(B) By making an emergency call.
(C) By using a laptop.
(D) By looking at mini-photos in a dating mailbox.
3. Who may gain the most advantage of cell phone dating economically?
(A) Users.
(B) Possible dates.
(C) The wireless service suppliers.
(D) The store owners.



b ] A R BB SRR R AT |

4. What are cell phone romance seekers often interested in?
(A) Shorter-term relationship.
(B) Getting a new laptop.
(C) Finding other phone users.
(D) Short distance calling.

ﬁqﬁiﬁ?‘%& LINE [[=5¥" godtrain

5. According to this passage, which of the following statements is NOT true?
(A) Many unmarried people use their cell phones rather than laptops to locate love.

(B) Match.com has two hundred thousand mobile users,
(C) European people like phone dating.
(D) Internet dating has gone from daring to uninteresting.

(1

Outstanding opportunity with local real estate corporation.
Requires strong background in real estate, financing,
closing. Some legal training helpful. Prefer candidate
with M.A. and two or more years of successful real estate
experience. Broker’s license required. Salary range
$16,000-$23,000 commensurate with education and
experience. Begin immediately. Interviews will be
conducted Tuesday and Thursday, June 10 and 12. Call
for an appointment 243-1153, or send a letter of application
and résume to:

Personnel Department

Executive Real Estate Corporation
500 Capital Avenue
Lawrence, Kansas 67884

6. Which of the following is NOT a requirement for the job advertised?

(A) At least two years experience.
(B) A broker’s license.

(C) An M.A.

(D) Extensive legal training.

7. The salary range indicates that
(A) everyone earns a beginning salary of $16,000.

(B) the salary depends upon the amount of education and work experience that the

applicant has.
(C) some applicants would earn less than $16,000.
(D) candidates with an M.A. would earn $23,000.
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8. What should an interested candidate submit with his or her application?
(A) A current address and telephone number.
(B) A signed contract.
(C) A summary of work experience.
(D) A request for employment.
9. This passage would most probably be found in
(A) the classified section of a newspaper.
(B) a college catalog.
(C) a textbook.
(D) a dictionary.
10. Real estate employees would most probably
(A) persuade people to buy insurance.
(B) sell houses.
(C) give professional opinions on personnel management.
(D) teach people how to do bookkeeping.

z ~ Essay : (30 &)

Write an essay on the following topic. The length of your essay should be no less than 100

words and no more than 200 words.

How to Create an Anti-Graft Society
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— ~ Vocabulary and Phrases translation : (20 4 )
AR

Jo B iz

N

Y
l
HRE T AR R
a motor bike
acute stress disorder
cloned cars
9 ~ electronic monitoring

10 ~ intelligence apparatuses
= ~Translation : (30 #)

1 ~ We have investigated the alarm and there is a small fire on the fourth
floor. The fire department has arrived and the fire has been contained.
We are asking everyone to leave the building in an orderly fashion.
Exit through stairwell B on the south side of the building.

2 ~ As people start using their smart phones to tap into computer networks,
the damage caused by malware could grow more severe. If smart
phones serve as payment devices, malware that nabs your identity and
taps directly into your credit line could follow.

3 ~ In an unprecedented effort to save the species, South Africa has bought
new ships equipped with top-of-the-line military night-vision
equipment. They've also begun testing seized boats for DNA to prove
they were used in abalone harvesting.

= ~ Reading Comprehension : (20 &)
Most people can remember a phone number for up to thirty seconds.

When this short amount of time elapses, however, the numbers are erased
from the memory. How did the information get there in the first place?

\5‘4
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]~
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4 ~
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6 ~
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Information that makes its way to the short term memory (STM) does so via
the sensory storage area. The brain has a filter which only allows stimuli that
Is of immediate interest to pass on to the STM, also known as the working
memory.

There is much debate about the capacity and duration of the short term
memory. The most accepted theory comes from George A. Miller, a
cognitive psychologist who suggested that humans can remember
approximately seven chunks of information. A chunk is defined as a
meaningful unit of information, such as a word or name rather than just a
letter or number. Modern theorists suggest that one can increase the capacity
of the short term memory by chunking, or classifying similar information
together. By organizing information, one can optimize the STM, and
improve the chances of a memory being passed on to long term storage.

When making a conscious effort to memorize something, such as
information for an exam, many people engage in "rote rehearsal". By
repeating something over and over again, one is able to keep a memory alive.
Unfortunately, this type of memory maintenance only succeeds if there are
no interruptions. As soon as a person stops rehearsing the information, it has
the tendency to disappear. When a pen and paper are not handy, people often
attempt to remember a phone number by repeating it aloud. If the doorbell
rings or the dog barks to come in before a person has the opportunity to
make a phone call, he will likely forget the number instantly. Therefore, rote
rehearsal is not an efficient way to pass information from the short term to
long term memory. A better way is to practice "elaborate rehearsal”. This
involves assigning semantic meaning to a piece of information so that it can
be filed along with other pre-existing long term memories.

Encoding information semantically also makes it more retrievable.
Retrieving information can be done by recognition or recall. Humans can
easily recall memories that are stored in the long term memory and used
often; however, if a memory seems to be forgotten, it may eventually be
retrieved by prompting. The more cues a person is given (such as pictures),
the more likely a memory can be retrieved. This is why multiple choice tests
are often used for subjects that require a lot of memorization.

1 ~ According to the passage, how do memories get transferred to the
STM ?
(A) They revert from the long term memory.
(B) They enter via the nervous system.
(C) They get chunked when they enter the brain.
(D) They are filtered from the sensory storage area.
2 ~ The word elapses in paragraph 1 is closest in meaning to :
(A) continues
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(B) adds up
(C) appears
(D) passes
3 ~ All of the following are mentioned as places in which memories are
stored EXCEPT the :
(A) STM
(B) long term memory
(C) sensory storage area
(D) maintenance area
4 ~ Why does the author mention a dog's bark
(A) To provide a type of interruption
(B) To give an example of a type of memory
(C) To prove that dogs have better memories than humans
(D) To compare another sound that is loud like a doorbell
5 ~ How do theorists believe a person can remember more information in a
short time ?
(A) By organizing it
(B) By repeating it
(C) By giving it a name
(D) By drawing it

6 ~ The author believes that rote rehearsal is :
(A) the best way to remember something
(B) ineffective in the long run
(C) more efficient than chunking
(D) an unnecessary interruption
T ~ The word it in the last paragraph refers to :
(A) encoding
(B) information
(C) semantics
(D) STM
8 ~ The word elaborate in paragraph 3 is closest in meaning to :
(A) pretty
(B) efficient
(C) complex
(D) regular
9 ~ Which of the following is NOT supported by the passage ¢
(A) The working memory is the same as the short term memory.
(B) A memory is kept alive through constant repetition.
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(C) Multiple choice exams are the most difficult.
(D) Cues help people to recognize information.
10 ~ The word cues in the passage is closest in meaning to

(A) clues

(B) questions

(C) images

(D) tests
z ~ Essay : (30 &)

Write an essay on the following topic. The length of your essay should

be no less than 100 words and no more than 200 words. In your opinion,
does "Sunflower Movement" create a new threat to Taiwan’s national

security ?
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— ~ Vocabulary and Phrases : (20 & )

(=) 5= (=) @3 6p

(=) pip# B (=) Bz

(z) % &RHE (~) Bz

() Bk F L& (1) 8% p

(1) 23t (L) ps2s

= ~ Translation : (30 & )

(- ) For at least half a century, police have considered it important to cut to a
minimum of their response times to crime calls. The faster the response, they
have reasoned, the better the chances of catching the criminal at or near the
scene of the crime. (10 4 )

( = ) Officers shall not use their police power to resolve personal grievances (e.g.

those involving the officer, family members, relatives, or friends) except under
circumstances that would justify the use of self-defense, actions to prevent
injury to another person, or when a serious offense has been committed that
would justify an arrest. (10 4 )

( = ) The essence of the police role in maintaining order is to reinforce the informal

—

- A)
—

control mechanisms of the community itself. Areas where community controls

break down are vulnerable to criminal investigation. (10 4 )
Reading Comprehension : (20 & )
Another large-scale study conducted by William Spelman and Dale Brown and
published in 1984 was also to challenge a core police assumption of that period —
that improvement in rapid response to calls for service would lead to
improvements in crime fighting. This study was developed in good part because
of the findings of a prior investigation in Kansas City that found little support for
the crime control effectiveness of rapid response to calls for service (Kansas City
Police Department 1977). With support from the National Institute of Justice,
Spelman and Brown investigated 4000 victims, witnesses, and bystanders in
some 3300 serious crimes in four American cities. This was another major study
in terms of the resources brought to bear and the methods used. Again it
examined a strategy that was aided by technological advances in the twentieth
century and that was central dogma of police administrators — that police must get
to the scene of a crime quickly if they are to apprehend criminal offenders.
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z ~ Essay : (30 &)
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Write an essay on the following topic. The length of your essay should be no less
than 100 words and no more than 200 words
“Mobile Police Station” and its Impacts

1780 Google #=

ERFERLERA
VREZEEZAE

N8
4;1&'—‘—'
= >~

RIS F BB LB LS
BN CATHRR

FEIME—FSWEHZE RV D RIEHmEN
B AR-TE

LG EMAN-HEEN
B ERE - 07-2233812
st - SEMIEEPIE_E 222 58 3182 2
LINE 9&55% : godtrain
UEZEBENHBRESERRENPREZANEERHEIE
SRABEGSUELEEEER




N

j’fx'ﬂff?*fﬁ%%'“%ﬁ%ﬁ{fm‘“"ﬁr’ﬁi?%"”{lﬁ' e YSRHARHGHE ol | ﬁ,ﬁﬁi}?‘g& LINE [[=5% godtrain

P ERAF 100 FERALIF Y BRE

I B 7 o ¥
P A (o)
TR EIR
1, A2R%E2 445> 5484 L 254 5 21 F o
2.3 * ¥R ﬁ%#isﬁgﬁg,@@%ggﬁo

37"1531’&—)4]?6 'ﬁq“’l)‘Lln\o

X+3
"
- ‘(1)«‘1"\.“2 (X—l)(X2-|—1) dx =" (12 »)

»,gg m%?ﬁ (13 A,\)

1
‘ dx=?,. .
-:‘ﬂrkfa—sm2m41+Mnx (12 =)

J.\/— sin” XdX—. \
@+ [y (13 A)

~a)%”m ALprmﬁW’%ﬁaégﬂr *(137)

Q) FaEPEEL ranke e ff s 4ar® o (12 4)

o~ (1) = aY'=Ye 2 y(0)=5e> £Ey=? (54)

@) =X +y +2°=xyz » 5 7, Z,o (54)

@) & FOY) =Xy & xy+xy =472 g4 i@ - (74)

@) £ FOCY)=x+2y 5 Xy =1eag| T 2 f% B2 o] & o (8 4)

44X
780 Google #£5 % tl:‘_l'%cplb\.m% \HE\”

VREZEEZMEN  ERREREBIENLE LS
B MRz CHEHEMAR

Jvi

TEIE—SWEHZ AR FREmEN
SEEYN "ﬁ-%—f&ﬁf—r%ﬁ 3 -BE AR B
AR ERE 1 07-2233812
Brasihit - SEMAEERPIE I 222 553187 2
LINE #&5% : godtrain

U EZEEEZNHBERESERRERPREZADEREE
ERABENBUEESHEER

e A 1




ﬁqﬁiﬁ?‘%& LINE [[=5¥" godtrain

TER LR YRS BRG R el

AL R 1y

P L ERAF 0l FERALFI B BB

S I R - St
P R (PERS )

A3 % ——'Esgfé? .
1. AE3EE 438> 2582
2.7 FIAL T ARALE B EE > E BATE -

3. B HF Y i ﬂ 33 2EA o

25/9;#2??0

- ‘?%%L‘*?T?'Jﬂ”ﬁi
(= )3 m™l-10 (8 4)
° (8 &)

(Z )& 7 x=6-sing@ * y=1-cosd ’ T\%

(Z)F - BRABEZF PRk 2 L5 360 240 F %4 2900
2 A/ eid FOECT R P RIS A G A g R

= T E T IR
(= ) Rptdr s y=2x-x"g2y=3x"—6X *T [ & 2_ T 4 e127505 0 (12 &)

(Z )FRAR r=17302 4 .CB8 r=1+C0SO P} N2 T B eA500 o

(13 #)

= HE BT IR
(- )R B F(Xy,2)=x+2y+22 X AT 5 x—y+z=15 §FF] 4L
X2 +2y? =12 4% o RenF HE L E o (15 4)

2

2
(= )«‘T‘\ﬁ"ﬁif(x’y’z):;_a+y?+% BB-(4,3,2)F Bk o el

£ o (10 )

Pt A 1



S AR R B TR SR SRR BT R | L 2= 28 LINE [|=5%" godtrain
R A L
(- );ﬁ‘;p_ﬂg [(In x)"dx = x(In x)" —n[(In x)"tdx o (10 A)

(= zFmm [x"e*dx=x"e* —n] x"Te¥dx . (10 4)

1
(=) IXZ 4_X2d><: ? (54)

SEPL-BRAR

 ERREREEEM LBO0E
BT er e H £ E R
SFIWEHZ AR LR IREEDT
BAR-EERFZMEN-BEEH
E4KREERE 0 07-2233812
Brasuhir . SR I 222 5% 3182 2
LINE ?R3% : godtrain
UIFrZ2EB8EZNHBRRSERRERPREZASEEREE
SRABBENINZEEIEES

oo}

|||

r1,

P A 2



S| R R Yo WL B TR TR YRR B L | b 2~ 3 LINE [[=5% godtrain

PR ERLAE02FERMIII B

seowl L ALE R A
P A (FEES 4 d)

2P 254 5 21 F -
ERXRITE > LT BAEE o
Y,

?—‘:;,L/n\o

l

(=) #y= (Inx)mx’ﬁdy - (12 4)
(=) Fy=tan~ (x—\/x+) A9y o (13 4)

dx

P‘?ﬂg‘fﬂjﬁgﬁg.
(=) R¥ed o z=4-x>—y & xyT 6 #rF = cnz WM - (12 4)
(=) f#ep o z=2x"+y’ @ R4 z=4-y* 5 “TH & ch> A o
= ‘é%‘[a”g-r;']?r?%:
(- ) Ry=f(X)=cosx®? > 2 0 57 _'rﬁ%jﬁxﬁ;% BN e (84)

X

(=) Iim(1+§j =2 (8 4)

X—>0

(=) z=1f(xy), x22+%yz3:x y s %,%L%(l ~12)2 & o (9 A)

7 ~§§—\}4 TR
12 ozi2 ¢ 3
(-) ]‘\J I Il siny? dzdydx=?(13 4)

(=) ij T6)o|x=?(12 A)

i Google #5  BEAFERON-BRAR
IREZERZHEN EREREREEZSN LB OIS

BEEMare TATHBR
TR —EWEHERNE FRIEEEN
SR A -ZERGEEEN-HEER

JEAKEEE - 07-2233812

st - SEMMEERDIE I 22258 3182 2
LINE #&5% : godtrain

ot

R

(13 %)

U EZEEEZNHBERESERRERPREZADEREE
SRABBRSMUZESEER

Mg A 1




< SRR R G LI T R S A L R |

ﬁqﬁiﬁ?‘%& LINE [[=5¥" godtrain

P ERAF I3 FERALII BYBRE

ST B8 18 Yo

B A (REES )

TEARER
loaiEs 442> =42 L E 264 0 X 2F -
2.7 FF)RE >V ARAEPD XA IFE > R RT BEEE o

37}_?5’%{&,{1%5 ,E%];g—é.l./a\ .

FEE T INAL

(- ),‘]l:\_.'3x\/1—2x2 dx="7(8 »)
1
(- )Jl\-‘-—x T dx="7 (8 4)

(= )jz\_"ozsinB XdX="7 (g »)
R

= ?F[i*fé"f)?ljﬁfﬁgt

(= )4 [ sin*(3x)-cos’(@B)dx (12 4 )

- dx
GO ez (134

= ‘E‘%‘??T;'JF\E%:
(=) ty=f()=v1+x3 , 0 % ¥ CHE BRER S (8 4)
_AJ16x—x* —23/4x
_ lim =9 /n\
(=) lim Yo ? (8 4)

(=) fz=1(xy)=y*-3x%y —3x* —3y* +12 fm & & ¥k - (9 4)

e A 1



[ [ﬁfg “\%mﬁjﬂﬁ[u FJ PLAZ £ R E PR e ﬁqﬁiﬁ?ﬁ& LINE [[=5¥" godtrain

- ~%ﬂ#§15qygg:
)d [ [ (x+y)Psin®(x—y) dA=? 7 R51(0,1)(1,2)
(2, 1) % (1,0) % Eg2 3 5% o (13 4)

(=) j: e 2 dx = 2(12 &)

\R4
N
ERE - LR EEA LS

BFEMaE CHETHERR
BNt — S EOH Z Al RIAR EERIR AT

SR AB-ERGZME-HAEN
BIKEEE - 07-2233812

Braginil - SEmHAEERPIE K 2225 3182 2

LINE #&5% : godtrain

ot

U EZESBEZNHBERESERRERPREZAZEHEE
SRABBRSMUZESEER

P A 2



AN AR R B e @ L B R SRR YRR R e L i B 2 LINE [[=BE godtrain

P ERAF 100 FERALIF Y BRE

o | Z‘Jﬂ'l‘ﬁﬁiﬁp’{f%

il RN -

TEALEE

. 23555 458 5L 2540 227 o

2.7 3R VA REEP RIS 0 R D BAEE o
37%’**%;«“7%%’:&%7»%?/}0

4.7 ZRAFEH T H I 2 LR

-\

—‘Gﬁ@§%%ﬁ$(@>9F$%%%(Nt)?$uiﬁﬁﬁm
BHL R (94)
(2) LR AR D 3 R R (8 4)
(2 )34 ul3 5 b R HI R AR AT R e e
(8~ )

SN FENUEROREER R CE R R R s 3 AN S

OI—T—ﬂ(T ~T) ¢ T-T,)- <, A&

dt  RTI ¢ RTI RTI

Cﬁ%ﬁmﬁﬁiﬁﬁﬂRﬂﬁﬁ%°<4&>

(= )iz zh,g;%;mgbg;g S8 L Lm m&‘” L& (94)

(Z)FRPFILVET L S92 B R 2 T WP HAIg N G4om P
oK BR g de ? (12‘@“>

R LS



j,;\]Hfﬁﬁ%g,wgﬁéﬁgﬁm.ﬁ;ﬁ_{}g‘gp”ggl LH Y SR B E Rt ﬁ,ﬁﬁi}?‘g& LINE [[=5¥" godtrain

~ (- )Please define the discrete random variable of negative binomial
distribution and write down its probability mass function. (5 %)
(= )What does ‘mutually exclusive” mean? Describe it in terms of
eventAand B. (5 ~)
(=) g XY, Z Z_F bz E(aX+bY+cZ)=aE(X)+bE(Y)+CcE(Z) ; i &
X,Y,Z # = P> Var( aX+bY+cZ) = a®Var(X) + b*Var(Y)+c? Var(Z)
» ¥55 72 (5 4)
(= )Describe ‘“total probability theorem™ and “Bayes’ theorem” in
formula. (5 #")
(Z )If Z=(X- )/ o ~ N(O, 1), please write down the p. d. f. of X and
calculate Var(Z)E(X)+Var(X)E(Z2)=? (6 #")
2z ~ (= )On the average a certain area results in 3 fire accidents per month.
What is the probability that in any given month at this area (7 +*)
(a) No accident will occur?
(b) Exactly 5 accidents will occur? ((b) 7] &} & ;% =+ )
(= )Suppose that E(X*)-(EX)* =4, E(Y?)-(EY)* =9, Cov(X, Y)=6, find
Var(2X-3Y+4)=? (8 %)
(= )Let X and Y be independent Poisson random variables with
respective means A ;and A ,, then the distribution of X+Y will also
follow Poisson with mean (A, + A ;). What does P(X=k|X+Y=n)

mean (please write down the conditional p. m. f.)? What is the
value of E(X|X+Y=n)? (10 ~)
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7% _Pyrolysis Rate §= Burning Rate z_ g2k » 3F3t % F1 7 B L &
(Compartment Fire)fe® *xz B X & (Open Space Fire)z 4p Fe £ 4p
2B (25 4)

SR T INAL

(- ) Please describe two examples for each of continuous random variables and

“nominal data” ( £} f '£F]) relating to fire sciences.(5 77)

(= ) Define “mutually exclusive” and “sampling distribution”. (5 77)

(=) Iff(x)= L e , then E(X?)=? (No integral!) (5 53)
N,

Iy

Ji

(2 ) Concerning simple random sampling, what distribution does each of the

statistics (z7v7) and (s79) follow if (L) the population is normal and n is
small? (2) the population is not normal and n is large? (5 77)

(I ) Describe the merits or characteristics of cluster sampling (=4 V[;%iﬁ&%ﬂ
T%40155) method. (5 57)

TG E T AL

(- ) Suppose that fires in a compartment can be classified into three types with
given probabilities: F,: Smouldering fire, P(F;)=0.2; F,: Flaming fire,
P(F,)=0.4; F3: Flashover fire, P(F3)=0.4. Let D denote the event of death
and suppose that P(D|F;)=0.01, P(D|F,)=0.3, P(D|F3)=0.699, find out the
probability of death of an occupant in a compartment fire.(6 7J)

(=) Ifx, . X,,.x,~1id N(0, 1), find out the distributions of the following random
variables @ (1) (XZ-x2)/2; (2)(X2+X2+..+ X)I(XZ+X2+..+X2);

()X, IyXZ+X2+..+X2 (9 77)
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LA T 1 +tenp ’It}wf- ‘? (a:0.05 ’ t35, 005 =1.690 > t35 go25 = 2.030
> Zoo2s = 196) (10 7})

1780 Google = \_'_ﬁq:'.l'%q:llb\'l_.l% Hﬂt

TBEZS A Eall - ERREREEBIEN LBOS

BERMRECHZERR
FEIE—FWEHZ AR D RIFEEEN
ERAB-EEGFEZ MBI -BEER
B4 EERE - 07-2233812
Brasuhir . SR IE__§K 222 5% 3182 2

LINE #&35% : godtrain
M EREFSERRERPRERKEE
SRABBENINZEEIEES

rP

AL

X FLE 2



j’E'Hfﬁvl'ﬁ%fﬁ'\\%ﬁ%ﬁ{fﬁ““'ﬁr'ﬁi?%"”{lﬁ' LE Y SR RH G EL S ol | ﬁqﬁi}?‘%& LINE [[=5% godtrain

P L ER B 102 FERALFI B BB

S I B E - s
N R N S %

TEIL AT
AT 43 FATL 4 254 5 £ 2F -

2.7 AR T ARMD AT M ed BAT ¢
3.7%'}1’%)4]];‘6 ;}517\”1)"‘/:7\0
4.7 ZR*FHP - 7P B

- T BT IR
(= ) Describe “moment generating function” and “pooled sample variance”
of independent sample t-test.
( = )With linear regression analysis, what does Least Square Method and Normall
Equations mean ?

( = ) Specify a reasonable or suitable probability density function (not mass
function) for describing possible fire risk (i. e. random variable or
function) and its statistics (sv3+&). Also, describe the purposes of
Chi-Square test.

(= ) With reference to simple random sampling, what does the distribution
(if any applies) of the statistics (%7# 2 follow if the population is
normal and n is small? What does “standard error” mean?

(7 ) Define “significant level” and “power of test”.

LB R EBRRTES T B B AR - 2o i

¥ 2T ,B;uv}g,_;_}} mj\}i;?ﬁlﬁ:ﬂlm,u?};f@ };}) m,r‘_g.
élbﬂﬁ“~f&rpfgﬁall)‘l@ » R EREREAZEEF ’é_if”‘}i
4 om G4 R o ’nguﬂg-—%t'{%xffi*n?ﬁ‘g"v)’mkb;{r*—}' I;ﬁ‘% 4
Nﬁﬁk(r>i£¥m£ﬁ”%?%ﬁﬁ ﬁ4
(-) 225 KNO;:S:C575:10:152 2 ¢ &
=) &4 % C3Hs(ONOy); 2. & it 4 7

= FFET IR
(= ) An electrical firm manufactures light bulbs that have a length of life

that is approximately normally distributed with a mean 40 weeks and
standard deviation of 14 weeks. If 49 bulbs are randomly sampled
from the firm, find the probability that the sample mean of 49 bulbs

R LS
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exceeds 42 weeks. (7 %~ )
(= ) Suppose that the five random variables x_, x,,..x. , are i.i.d. and each

has a standard normal distribution. Determine a constant ¢ such that
the random variable ¢(x . x,)//xz+x2+ x2 Will have a t distribution.

(8 4)
(= ) A random sample of 8 cigarettes of a certain brand has an average

nicotine content of 2.6 milligrams and a standard deviation of 0.9
milligram. Construct a 99% confidence interval for the true average
nicotine content of this particular brand of cigarettes, assuming the
distribution of nicotine contents to be approximately normal. (10 4 )

POSSiny useful data: (20.025 =196 7995 =258 P(Z<-1)=0.1587 > ts 0.005 =

3.355 > t7,o_005 = 3.499 > tgy 0.025 — 2306)

o~ 40 (Na) ~iEF it 40 (NaOy) ~miit 4¢ (Zn3P2> g i 4F (CaCy)
kit aE (ALCs) 32 B k2 o BB kR reg s it 55
Joo Fla KA AL fry o BN T B kY 2 R
7;_1,_}\ > TF;L,PQ’F'[‘THQ

o8 Googe n - BEAFE LB R AR

 ERRNIZREBEM EBEOE
B HT e ie C H £ E F R
—EWEHZ AR D RIREE N
EAR-EERZHEN-BEEN
B4R EERE - 07-2233812
Brasuhir . SR IE_§K 222 5% 3182 2
LINE ?R3% : godtrain
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FEALRE
1. A3X3E 2 438> 532 L 254 5 2 2F o
2.7 F )ALV A AR B TE 0 L RE BAEEL
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4.7 ZRAFEH T H I 2 LR
-~ ;%_A HEd rﬂ*x}@ﬂw« L SVE F e ﬁg;fgzt‘g;gc L9 ﬁﬁ%%fgﬁ
t%fh&u%@ﬁqrnr“w%ﬁfaﬁgv

S HEPETDF A GG 2 L L2 VR 2 5y

GEREE AL L ot L BHE L0

I

ST AIRAL
(- OFind[#,2* e a2, ‘ékéfdﬂL e Ma]=2 (T 4)
(= )Let X,.X,..X,, be a random sample of size 25 from N(0,o?)

Determine a constant Ksuch that P(—ké%ﬁk)=0-95 . The

coefficient of variation i1s defined as the ratio of standard
deviation (S) to mathematical mean (X ). (18 &)

Possibly useful data: From F tableP(F,>249.052)=0.95
from / table P(Z 31645) =0.95
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(- )Could “mutually independent” and “mutually exclusive”
occur simultaneously given that P(E)#0 and P(F)#0 ?
Describe or show your results or proof in terms of event E
and F. (b 4 )

(= JDescribe (1) the difference between “standard deviation”
and “standard error’ (2) total probability theorem. (5
5)

(= )A prisoner is trapped in a cell containing three doors. The
first door leads to a tunnel that returns him to his cell
after two days of travel. The second leads to a tunnel that
returns him to his cell after three days of travel. The third
door leads 1mmediately to freedom. Assuming that the
prisoner will always select doors 1, 2, and 3 with
probabilities 0.5, 0.3, 0.2, what is the expected number of
days until he reaches freedom? (15 %4 )
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1. AZEEEX 448> #4582 254 5 X 27 -
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— S ;f:q\}- é*r 5'”‘:3%:
(=) FHRP P2 REFF? D0mp WEFFERTFROLE - (124)
:)ﬁuﬁ%aﬂﬁwr?%ﬁ%@’ﬂ%%i~Tﬂﬁﬁlm§1@w%%
(REERIBREEIR  KBERITREFHEAT ) > T 2B R
TP YRR (FLEE) & A %}%t“éﬁﬂ? sltda g Peng B oo (13 4 )

Z ~FEwETIIRAE
(=) PFZwzFE? (54)
- ) B AT IEL T NG CHsO07 ) 3838 1 o7 A RENIE LT 5 £
(10 A~ )
(Z) #FRP R ZEF AP RE > @R 3 ET oES (kg/min) > ¥34 %
B BRI g g (kg/min) o (10 &)

Z T ETAIRAL
(- ) Suppose a tank contains 1000gal of water in which initially 100 Ib of salt is
dissolved. Brine runs in a rate of 10 gal/min. And each gallon contains 5Ib of
dissolved salt. The mixture in the tank is kept uniform by stirring. Brine runs
out at 10 gal/min. Find the amount of salt in the tank at any time t. (8 4 )
( = ) Find the general solution of y"—5y’+6y=-3sin(2x). (8 4 )
( = ) Solve the initial value problem. (e**¥ + ye”)dx+(xe’ -1)dy=0, y(0)=-1. (9 4 )
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2 ~ Find the solution of the initial-boundary value problem.

o2 282
(=) at—ﬁ— a)(g for O<x<L,t>0, y(0,t)=y(Lt)=0 for t>0,
y(x0) =0, and 2(x0)=g9(x) for 0<x<L. (12 #)

62

ou
(——>_: 82

for 0<x<L,t>0, u(x,0)=f(x),for 0<x<L

u@©,t)=T, u(L,t)=T, for t>0. (13 %)
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